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INSTRUCTIONS TO CANDIDATES

1.  Please read the instructions given in the question paper CAREFULLY.
2.  This question paper is printed on both sides of the paper.
3. Please write your answers on the answer booklet provided.

4. Answer should be written in blue or black ink except for sketching, graphic and
illustration. :

5. Answer all questions.

6. “Answer all questions inEnglish.
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Question 1

a) From the Figure 1.0, determine the thevenin equivalent circuit as seen by R;.

i.  The thevenin equivalent resistances
' (5 marks)
ii.  The thevenin voltage
(5 marks)
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: ‘ 470 B
Figure 1.0
b) From the circuit shown in figure 2.0, Calculate the voltage

i~ Atpoint between A and B

o : (3 marks)
. At point between A and C -

(4 marks)

iii.  Atpoint between A and D
(4 marks)

1v. At point between B and C
(4 marks)
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*s Figure 2.0

Question 2 ' ‘

a) For a half wavarectifier circuit have forward resistance and can be considered
negligible and infirite reverse resistances. The alternating supply voltage is 200rms
and the resistive load is 60€2. Calculate
* 1. .The mean load current

. (5 marks)

1. The rectifier efficiency

N

4 v (5 marks)

+ b) Fourdiode are used in a bridge rectifier circuit have forward resistance and can be
considered negligible and infinite reverse resistances. The alternating supply voltage
is 240rms and the resistive load is 302. Calculate

‘i, The mean load current

(5 marks)
ii.  The rectifier efficiency

(5 marks)

_¢) Describe with the aid of suitable diagram, the full wave bridge rectifier action of a
semiconductor diode.

(5 marks)
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Question 3

a) Convert
.~ 15y0to binary

(3 marks)
i1 5632 to binéry
' (3 marks)
b) Simplify the following expression
i. F=(A+B.C).(A+B.C)
(5 marks)
i. F=(A+B).(AFF)
| . (5 marks)
) ¢) For the followirg circuit in figure 3.0, Determine v
.4+ The relatiofiship between the output Z and the input A, B and C.
" ; ) _. (4 marks)
‘ ii.\ Construct a truth table for the functidn.
(5 marks)

T
£3% ‘ z
— [ )

Figure 3.0
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Question 4 ,
‘ a) The rectifier at figure 4.0 is assuming to be ideal. Calculate the peak current in each of the
resistor given that the supplied voltage is sinusoidal.

(5 marks)
e
A
50V
r.m.s.
"
: R Figure 4.0
. b) ‘As refér to the circuit in Figure 5.0, determine
i.  The voltage at load R
(5 marks)
it.  'The current at load Ry
(5 marks)

+
Vs
3V T

Figure 5.0
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¢) For a half wave rectifier circuit have forward resistance and can be considered negligible and
. ¢ infinite reverse resistances. The alternating supply voltage is 200rms and the resistive load is
‘ 60Q. Calculate

1. The mean load current

(5 marks)
ii.  The rectifier efficiency
(5 marks)
END OF QUESTION
. A )
-
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